14” Electric Shovel

A14ELF
SC14ELF

TO SWITCH

6/78

8278



Ref.
No. P/N

Description

A14ELF
SC14ELF
14” Electric Shovel

630038
672014
662270
672022
672030
152736
152843
662288
672048
662296
672055
672063
610014
707034
707042
152744
712109
672071

662304
152835
662312
612010
672089
152751

672097
152769
152777
672105
672113
672121

630004
630012
152793
672139
672147
672154
662320
152785
152801

152819
312058
672162
152827
630020
672170
672188
672196

ury
OCOONONLEWN=

LA ADLLAEDMLLUWWOOWWWWWWNN -

8278

Wire Harness

Stock, Trigger (R.H.)

Handle, Tube - Upper

Trigger, Lever

Stock Trigger (L.H.)

No. 8 x % Pan Head Phillips Polyfast Screw
No. 8 x ¥ Pan Head Phillips Polyfast Screw
Center Tube Handle Assembly ’
Grip, Lower (R.H.)

Handie, Tube Bottom

Grip, Lower (L.H.)

Fan Assembly

Drive Assembly

Bearing & Block Assembly

Gear, Drive Pinion

E-Ring

Drive Shaft Assembly with Flexible Coupling
Idler Gear Assembly

Shaft Idler

33/64 Washer, Flat

Impelier, Extruded

Blade, Rubber-Impeller

Plug, Drive

No. 8-32 x 1 Flat Head Phillips Screw
Gear, Impeller

No. 10-24 x % Truss Head Phillips Screw
Washer, Spacer Bearing

Housing, Lower Motor

Blade, Scraper-Plastic

Housing, Upper-Motor

Plug - 2 Prong

Rectifier-Full Wave

No.8 x 12 Pan Head Phillips Polyfast Screw
Cover, Top-Motor

Filter, Foam-Motor

Shaft Drive Motor End

Bar, Top Reinforcing-Extruded Aluminum
No. 8 Washer Flat .

No. 8 x % Flat Head Phillips Polyfast Screw
Nut, Tee-5/16 - 18 x % - Curved Flange
Bolt 5/16-18x1 Hex Hd.

Key

No. 8 Splitlock Washer

Switch (with On/Off lock)

Coupling Drive

Sleeve Coupling

Shatft Drive Pinion End

6/78




